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Question 1- A man rows a boat 36 kilo metres in 4 hours

downstream and returns upstream i he speed of the
—

@ stream (in km per hour) 1s:

Ueh SAfeh T o 3TJohed 36 FehelHict i gt q2f hid gU 4 5 H T
Bﬂ)oz A =TT & SR ORI o Nfehe 12 HE H ST ST 81 €y Ay T
Ly (feretY wifr sieT o) R 282

B+w= 9_(i) | (1) *U‘) (A3 Km/hr
B\ QLO - c:l_j 30 B. 2 km/hr
hQ: é{_ W) - < C. 5 km/hr
; A = b D.6 km/hr
~Wz 5\_(|/) — E. None of these
e W ¢
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Question 2- A person travel from point A to B and return from

@ LUL QZWLKMC@ X b B to A 1 5 hours. If the speed of boat and that of stream 1s 10
km/hr and 6 km/hr then find distance.
o T 2- Ueh oFch {oig A ¥ B ek shl ITAT el € 3B & A T 5
6 | SAtedr B Jfe 7T 37T &my ot e 10 forei/eier 37K 6
L X o el gt AR

\_\

0-6  lo¥g ZX _ A.12 km
Xy X 6 30 _B/16 km
. E“S vlépm C.18 km

D.20 km

E. None of these




SBI CLERK 2023 (3TIIR o )

Question 3- A boat goe in still water. If the speed of
)ﬁj /Q,P _ L\ H - currenr then 1t takes 4 hour more time to travel
P — Doem

upstream than in the downstream. Find the distance.

T 3- Ueh A9 X ST H 6 ToRH1/Eer <Y 7T & Iad] gl Ife ary
<1 Tt 2 fehefi/EieT ©, A1 S8 9T o 3Aehet shi doi1 H 91 6
@ Z,(vL o y STferehet AT L H 4 Eie HAereh He ATl 1 g Fit <hifsy

- Dtm 2;11 30) A 24km
Gi — Q = Lf q B.28 km
R D=34, C.30 km
Do p Saaes D.40 km

L1 @\ . L1 \ —ENone of these
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Question 4- A boat goes 30 km downstream distance in 2
hour. If the speed of current i@ then find time taken to

cover same distance in upstream. ) [3

T 4- Ueh 1ol 2 52 1 30 ferHfl 1qsrae shi gl a2 =it 81 Afe e

O

shl Tfet 5 feRwi/sieT 8, dl T o icishel THT gt o2 i | feram
wwmvﬁﬁ?ﬁ

A.2 hr

1 “]3 = | 30 B.3 hr

0" C.5hr

<6 N D6 hr
— E. None of these
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7\
(D }UP: L(X {DDWQuestion 5 Ajay can row at a speed n still water. If he

takes 4 times as long to row a distance upstream as to row the same

L{ distance downstream, then the speed of stream (in km/hr) 1s

,r = XD T 5: AT e STt | 6 ToRwfi/EieT &bl T1id § A1a =IeTT @ehal gl Al a8
W Btw ST o Ficishel THT &Lt T i o foTT e o fciehet Ueh gl aF i 4
L = N 4 e wmE o &, e sy e (fRwi/erer #) R

o 6 A.4 km/h
b+ = 9 0= 3 Sk, B Skz/hi
v o — 30 &6 knvh
o m,/nr
Swlfl& D. 6.3 kmm/hr

E. None of these




A.2km/hr

B. 3 km/hr
C. 5 km/hr
D. 6 km/hr
E. None of these
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Question 6- A boat covers 12 km upstream and 18 km
downstream i@, while 1t covers 36 km upstream and

]

24 km downstream 1n 13/2 hours. What is the speed of the

current?

ek ST €T o Ficishe 12 Tehel ST & o 3fgened 18 fohelt sht gt
3 B¢ H 8 1 &, STelioh I8 TN oh Tidiehel 36 fohHT ST G o6
Tt 24 Tormft ol gl 13/2 % 1 7 hEell 21 T <ht 7T /T 22

g
(i AT




() Lot goud of boect= X tmjt.| 36°_ &
o wvent=Y o/t | *H 2 =R




E

Q{Hu)ﬂ (18-w)+

= 500

0ty g
30 j =

I= ok
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Question 7- Two boats A and B start towards each other from
two places, 300 km apart. Speed of the boat A and B in still
water arg r and 18 km/hr respectively. If A proceeds

down and B up the stream, they will meet after.

T4 7- &1 A B 300 fehrt 3 gl o2 &1 ST § Th-g shi AR

T & L] 5| TR ST | 91a A 3T B oAl 71l hHRT: 12
ferefi/eer > 18 forefi/sier g1 afe A i ST 8 3T B 91T & W
T, A3 e i firei en
304 B. 400 km
30 C.326 km
D.336 km
T None of these

—_—
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Question 8- Speed of a boat is 20 km per hour in still water and

the speed of the stream i1s 10 km per hour. If the boat takes 30
@ B =0 24 ( H hrs to go to a place and come back, the distance of the place is
W = [0 b |}, T4 8- & Se | frer 3t 71f 20 fepuft St sier € < e &t i 10
fortY e Eier 81 Afe A9 ohl Teh T 9T ST ST 199 3T H 30 &
l L D I &, 1 36 TA i gl 71 87

— e
20 204}, %Z - 35 A.200 km
D ° 5. (30 B.250 km
S
IR ‘Lgﬂ =30 %D:j@@ —€-225 km
Q D= 250m, D.300 km
E. None of these
’fﬁ' ’ | “'.',:.Q
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Question 9- The speed of a boat along the stream and
@ B + = [ é i/ Qa oajnst the stream is 12 km/hr. The time taken by the boat to sail
in still water 1s
B-w= | 201 )orer 9- emar o6 wmer weh 1en <1 IR 16 fehel/eieT & S e 3 farodia
(1) +(,‘(-) 12 fereft/eier 21 TEer Siet & 450 fereft sht gt o ot | 1l g foram
TR 95 9T 27
, 2S5
2B = 28 = i@_l 20 A.20 hr
M7 B. 40 hr

B:“”%/H T 20

:{— - D.30 hr
“E_ None of these
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Question 10- If stream running at 4 kmph, a motorboat goes 6
knf upstream)and back again to the starting point i@
Find the time taken by boat to cover 360 km 1n upstream.
T 10- 4 TopHt Ui i shl TTfd 8 I S| IRT |, Ueh HieEIE O
o fcieret 6 Tehul STTell @ 31T 2 51 7 ftht & rifvreh foig o oo 1
STl &1 ST =6 Wfcrshet 360 ot =l gl & shid o for =Tl g ferar
URIRERRICEIEIY 30 A 70 h

B. 80 hr

90 hr
D. 100 hr
E. None of these
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M) W= Hemlt | 3= B*uf-4E-16]
D=6 tm 73)—*684610

@*%%Biq_\z Tous 36q
([ By B+y) ) P ¥&~L,
= Jol
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A. 10 hour\/

B. 12 hour
C. 15 hour
D. 16 hour
E. None of these
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Question 11- A pers n swim 6 km/hour in still water. If the
speed of current(is 4 km/hy. Then find time taken to cover 20 km
)

T4 1 1- Toh ATh (R St | 6 Tehefl/efer sht i & o wehar 21 9

ST hT 1Tl 4 TeRHl/SiaT 21 T e oh Sicishet 20 fehet 3 gt o2 ahe
T foram e w31 i

Fop= 20
P
= lok. 30
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